Put/charges 2¢ at Aand —3g at B. Deterprine the value
from point C to'point D. (No actyal integration need d!) What 1s the
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charge dstribution hes a density p that'is constant fr
i€ field for all values of 7, both
[2.5]

Too way Mo oo whudodbd Do Jine o
e onle soflaroid doure £ O dange Aofar~ald .

/{w.l b A ope Y MMA}'(JA"

v
Q'W‘/ C%:. LA o PM’
L
QUU( 9%9\'—%@/ Ly = Ny qsﬁ - ‘\“’NIL‘A
T, L

~:CQ[? &"i}‘_ﬁ’\.# ®



v

termine the/value of the N
of E, from psint C A0 point D. (No actuaid ation needed!)
numerical answer if ¢ = 107%C and [ = 5cm 7
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PHY102 : Quiz 1
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PHY102 : Quiz 1
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PHY102 :

1. A gpherical charge\distribution hasg a density p that is constant fromr = 0 oud
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, both
[2.5]

s than and greater than R 7
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numerical answer if ¢ = 107°C and [ = 5cm 7 [2.5]
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